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QUESTION 1

a) 50 sets of shoes were sold at RM130 each. If a gross profit of 15% based on cost was
made, find the total cost price of the shoes.

(3 marks)

b) Demarathon made a net profit of 25% based on selling price by selling 60 sets of shoes.
The shoes were bought at RM7800. The operating expenses were 10% of the cost. For
each set of shoes, find

i. the selling price

{4 marks)
ii. the breakeven price

(2 marks)
iii. the amount of profit or loss if each set of shoes was sold for RM100

(2 marks)
iv.  the maximum percentage of mark down that can be given without any loss.

(4 marks)

QUESTION 2

a) The cash price of a motorcycle Honda RS is RM11500. Megat purchased the
motorcycle by paying 10% down payment. The balance has to be repaid by making
monthly installment for 3 years. If the interest charged was RM1552.80 based on
original balance, find the interest rate.

(5 marks)
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b) Amanda purchased a RM350000 car on an installment payment. The purchase was
settled by a down payment of RM10000 and the balance was repaid with 108 monthly
installment. If the interest charged is 4% per annum on the reducing balance, find: (by
using the constant ratio method)

i. The total interest charged

(4 marks)
ii. The monthly payment

(2 marks)

ii. The outstanding balance if Amanda decided to settle the loan immediately after the
90th payment by using the Rule of 78
{4 marks)

QUESTION 3

a) High Speed Company buys a machine at RM175 000. The machine has a life span
of 15 years with scrap value of RM13 000. Calculate the book value at the end of
seven years using the straight-line method.

(5 marks)

" b) A car costing RM89 000 depreciates at rate of r %. Its salvage value is RM 15 000 at
end of ten years. Using reducing balance method, find r and the accumulated
depreciation at the end of four years.

(5 marks)
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